EARAROBEEIERT — 2 N— IBISH —F

2018118108 (+) 3EES3H

Gl Y >%3mtE 5007 TF

(5] T8

‘ [R1&] & ‘ [REBB] — | Z (%) 26000 B

[A~&E%] 1 % 7,500,000 @ ~ 2 3#:3,000,000 ™ ~ 33#:1,900,000H 4 7% :1,100,000 M

/53 750,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N = # o3 | FARHER 2:41.7 4-5-5-4 |35.7| 94.4 | 3 424 | FIEHIEZ (EH)
111 | TR FT XX 55.0 i 0 | B F5TLyEs5T 5747
RZFA4d=I K B:vA4 b1 EviLy RT7—L4
o S R E AR 141, -13-7- . . HERES (EiH)
> 10| 7Ly vz T— AT (EIE A R Rt Il B B -
L:F=TANT N BiArT—-KITz FFRRE  FEAR
o > 5 | JIXEAR 2:42.0 11-11-7-6 | 35.8 | 91.5 | 2 442 | ERIEE (ER)
38|14 FAEAIZ b= L - ﬂ’56% (11/2) -2) EHE
LN—ErYv— Biy—HARTU-X (B) #HBI-FL—va>AET7
S o) 4 3 | ENEAS 2:42.2 1-1-1-1 | 36.6 | 89.6 | 1 494 | REEER ()
4Bl 3| FU—LREY Y b 5.0 (a1 1/4) we) |EAEL
R:TF1=TTVI 7 BT —TAT1v7 it R
D o5 | WSHEDR 2:42. 10-9-13-10 | 35.4 | 89.4 | 11 506 | FIREX (EH)
5 5| A—X7Z2X 57.0 (oE) 8) FU-CT1onz ()
R:xA1=Zdr7—2 B:IUKsNEOQY J—HrTp—L
Nz = ft 3 | ARG 2:42. 11-12-9-10 | 35.8 | 88.5 | 6 458 | /NEfmBL (5Ei)
6 4| ARZNZATA %52.0 (7E) 46) () HAL-2k—X
R:/GxVUXN B:aO0YNZH—7) "HEIT7—L4
= 4 5 | SElnE— 2:42.4 4-3-3-7 |36.6| 87.7 | 9 458 | FHEEX (E#)
718113/ 7¥7 7> 5.0 (1/2) (-1g) | TNERA LT 1 2T X (15)
Ry KYYYZXIZX BI040 0-+F J—HrTr—L
N # 3 | HlUKs 2:42.4 2-2-2-2 | 36.7| 87.7 | 4 438 | MAKER (FH)
8l5|g|7AIERNS A53.0 () +4) A(:g){ﬁa\/—;m—x
LT =TANT N BT oRKo4 -2 HBITr—L
S mErhE 142, —6-9- . . MRIE (E#)
9 NECELEVES i 5 g 2(34/2‘”5 6-6-9-9 | 36.0| 86.5 | 12 42(1);) //:;q:ﬁ#
RIZFAT—IE BiF oA RY—L Evdly RT7—L4
SIS, # 3 | FR— 2:42.6 3-3-6-7 [36.5| 857 | 8 452 | HIIEZE (E8)
10/7 12| B— K227 2~53.0 (3/8) 4a) | 0 O—Fx-2557
L:T7 RIS YT w8 B:3INT4— KRNI BR ME
i . 44 | REHE 2:42.9 8-9-3-4 | 37.1| 83.1 7 450 | REFIER (EBR)
] 6| ¥—7TIX %56.0 (1 3/4) 4y | B) FrF-L—sry
R:T—7T4—Z BANTIAIR—I (B) #A3—-RKL—va>aE77
v K 44 | ANEDER 2:43.5 8-7-9-13 [ 36.9| 77.3 | 10 468 | BFME— ()
12(57| Ly E72U7 754.0 @ 1/2) T e
R:FA—TANI b Biva-v—T—> & i
Lo O—=2 o4 | BEX 2:43.7 6-7-9-10 |37.2| 75.7 | 14 | 466 |MEHHIL (EiH)
13j7 /11| @Y2v¥>H0-2X 5.0 (1179 ay | VB) EAHE
R:o RYIYXIX B:ax/Lyivy ¥ e
= .9 i 3 | RERER 2:43.9 14-14-14-14| 36.7 | 73.2 | 13 | 460 |HFEXR (FR)
EE 9| ¥—T 1L F A50.0 (1 1/) o) |KFEA
LNn—ETrv— B A2 IF HE SRk
@ 21 L
£y 47.3-36.1
NA>24 L | 12.8-12.0-12.8-12.8-13.0-12.6-12.9-13.0-12.5-11.2-12.0-11.9-12.2
® I—F—@EBIERL
13—74— 3,8,12(1,13) (2,11) (6,7)5(4,14)10,9
23=7F= 3,8(12,13)1,2(11,7) (5,6)14,4,10-9
G=7"= (x3,8) (13,6)1,12(14,10) (2,11,7,4)5-9
Mal=5r= (x3,8)10(1,6)14(12,13)2(5,11,4)7,9
[ N5
B R 1 650M | | 71 K 1-10 900M | | # = 1-6 2,790 | | 3=/ | 1-10-14 2,540M
% B 1 180M 1-14 4601 | | B = 1-10 2,450/ | | 3EE | 1-10-14 21,350M
10 170 10-14 510M B H 1-10 5,050M
14 140M9

ABICOVWTRDTEEERROODE. TR LIV,




